PreCalc
6.2 The Inverse Trig Fxns (Continued)

OBJECTIVES
1. Find the exact value of expressions involving the inverse sine, cosine, and tangent fxns
2. Define thei inverse secant, cosecant, and cotangent fxns. ‘ /
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When the inputs are values that are NOT familiar to the unit circle, then default to the identities above, as
the radius may not equal one.

Example. Find the exact value of sin [tan™! (-;—)] Notice ¥ is not a familiar tan value on the unit circle.
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DEFINE THE INVERSE SECANT, COSECANT, AND COTANGENT FXNS

Recall the graphs of secant, cosecant, and cotangent.
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The inverse secant, inverse cosecant, and inverse cotangent functions are defined as follows:

y =sec”'(x) means x =sec(y)

s
where |x|=1 and 0 <y<m, yqei

y =csc ' (x) means x=csc(y)
s i
where |x| =1 and —3 Sys-é-, y# 0
y =cot™'(x) means x = cot(y)
where —o <x <o and 0 <y<mu

Example. Find the exact value of csc™1(2)
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